RA\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-705 Masonite FG NN\C - Drawings\REV 2018 IBQ\TX-4673.75.dwg, TX-4673

POWERED BYIﬁ

ENDURA

DOOR COMPONENTS MADE IN THE USA

Glazed Fiberglass Door

"NON-IMPACT"
INSWING / OUTSWING

EVALUATED FOR USE IN THE STATE OF TEXAS

The Glazed Fiberglass Door system described herein complies with the 2018
international Residential Code {IRC), Sections R301 & R609 and the 2018
intemnational Building Code {IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404
subject o the following conditions:

1. Anchors shall be as listed and spaced as shown in the details. Anchor
embedment to base material shall be beyond wall dressing or stucco.

2. When used in areas requiring wind-borne debris protection this product is
required fo be protected with an impact resistant covering that complies
with Section R301.2.1.2 of the IRC and Section 1609.2 of the IBC.

3. Allowable design pressure requirements must be equal to or less than the
design pressure rating shown in the design pressure chart, sheet 1 of this
drawing.

4. Conditions not covered by this drawing are subject to further engineering
analysis. ' :

TABLE OF CONTENTS

SHEET# | DESCRIPTION
1 Typical elevations, design pressures & general notes
Door panel details
Horizontal & vertical cross sections
Vertical cross sections
Frame anchoring

i iWwin

=— 37.5" MAX. O.A. FRAME WIDTH —=

82" MAX. O.A. FRAME
HEIGHT (INSWING)

81.125" MAX. O.A,
FRAME HEIGHT (OQUTSWING])

INSWING

+60.0

-60.0

OUTSWING

+50.0

-50.0

o

Coa
S X!

»
R3ae

4
n

ALY,
OF 7
P C”:". ‘..".' .
s p
YNDON F. SCHMID

5‘,}}%2}
/‘5}

(2407

W,

Y]

-

53 2

2 8

_5-.: B y

U)u.j Oom 9]

we £ N &
.Gdo

c > g

o 0%

v oo 3

& =T X

> J5%9 0
«:/’;>"5Q
Zow
on g

5« OWN - o
0 x2

bl z 0 b

g §m2 o]
= [»]

) 502 &

& [ 8
=

13

L od

oy

o e:

E g

3

8

a

CERTIFICATE OF REGISTRATION # F-—11852

PRESSURES & GENERAL NOTES

z

S

&

[

g

<

5 IxE
—d

S |2lQ

ig al o

8Ln.l

< £

5 x| 2

2 o &
) &
vl <C
[2 % o

0>

Ll im

UPDATE TO 2018 IBC/IRC CODE

10/23/19|ADD “FusionFrame” OPTION &

1

REVISIONS

L
<C
[
S
=z
6

oaTE: 11/09/1

ScALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX-4673

sHeer 1 oF 5

© zp16 R.W. BUILDING DONSULTANTS INC,



RA\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-705 Masonite FG NI\C - Drawings\REV 2018 IBQ\TX-4673.75.dwg, 2.7

STILE (LVL) INTERIOR

W
N\,

22~

EXTERIOR

- 1.6" —=

/"1 "\ HORIZONTAL CROSS SECTION

\2/

35.75" MAX. PANEL
WIDTH

N 21" MAX.

ey}

D.L.O. WIDTH

T
- 6.5"

4 / )
Va

79.25" MAX. PANEL HEIGHT
63" MAX. D.L.O. HEIGHT

12.75'O.C.

i

#6X1-1/2"
/ PPH SMS
(TYP.)

10.5"

6.5"

3.25"
(TYP) ‘4

ODL LITE FRAME

SEE
HARDWARE
TABLE

&>
DOOR PANEL

Masonite
Fiberglass

DOOR PANEL SKIN: FIBERGLASS {0.075" MIN. THICKNESS)
CORE MATERIAL: POLYURETHANE FOAM (1.9 PCF MIN.)

1

DOOR PANEL

STILE (LVL)

-~ 2.09" —=]

X%

|a—— ] 4" —o—|
WOOD LOCK BLOCK
(12' LONG)

#6X1-1/2
PPH SMS

INTERIOR

GLASS BITE 1/2"

MY

STEEL SPACER

QSO SEALANT
LOW TACK SEALANT

C:) GLAZING DETAIL

1.38"

‘ ODL LITE FRAME
HP Polypropylene

Endura

Multipoint lock (3pt.)

——— 1/2" OVERALL GLASS THK.

TOP RAIL
(WOOD)

FIBERGLASS
DOOR SKIN

/ 1/8" TEMPERED GLASS

\ AIR SPACE
1/8" TEMPERED GLASS

INTERIOR

FOAM CORE ‘
N

BOTTOM RAIL — |

(WOOD COMP.)

N

h
¥
TMIDT

111
Jert
s »%;7

QF 7
SCH

A )‘S) :..NA
QEE{A W
TS

- o«
¢ o . b <
? ( t.‘ . — »*
M b gat

/]
/4

EXTERIOR

/4
/4

1.7

L— 1.75" »j

/ 2"\ VERTICAL CROSS SECTION

\2/

Lyndon F. Schmidt, F'E
TEXAS P.E. #104123

P.0. Box 230 Valrico FL. 33595
813.659.9197

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

%)
=
&
< a
24 cep
) > L
- @ =
P4 s X
] oy IR
192
o
2 o
= o 8
o
3 o
’.—
o)
2 =
0o o
>
L o
L
a
O
S0
O
8le
=]
Si@| |n
. z
o[@ |5
519 |2
e >
tlo| &
Si=
(2]
ol
Kig
£
815
<
(o))
b e
N <
S I8
- lo
z
oaTE: 11/09/16
SCALE:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4673

SHEET 2 ofF 5

© 2016 R.W. BUILDING BONSULTANTS ING.



R\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-705 Masonite FG NN\C - Drawings\REV 2018 IBC\TX-4673.75.dwg, 3.7

2 2X FRAMING 2X FRAMING
3/ — _ (G >=0.42) - (G >=0.42)
D k1 IA - "\ | ) \\
g / EXT. SHEATHING kil 4 v [ B seAnnG e
// ' e DRYWALL 1 | TDRYWALL
4 £l 114 LT TR
/ i e # =
, [ WOOD SCREW ] L[ WOOD SCREW
1/4" MAX. ’ f B
SHIM SPACE \ o TId i
NN X N 2z ~—— 1/4" MAX.
3 i sGOE SHIM SPACE
1 = 00p0oc)
y DOOR PANEL ~ f DOOR PANEL
' TRILENNIUM HEAD: PINE HEAD: "Fusionframe" (1-PIECE)
// SERIES 3000 MULTIPOINT
/ LOCKING SYSTEM ENDURA WEATHERSTRIP ENDURA WEATHERSTRIP
| (QEBD/PE 450 (QEBD/PE 650
CORNER PADS b q EXTERIOR W INTERIOR EXTERIOR W INTERIOR
(TYP) N\ = A EAIERIVK INTERIOR
NS AWEREN fg\gsfn_mﬁ CROSS SECTION /"3 "\ VERTICAL CROSS SECTION
Uiswing snown - inswing Outswing shown - inswin
WW U/W U also approved W also apgroved °
VMM O 1/4 MAX,
EXT.SHEATHNG ~ SHIMSPACE (TYP) _ SHIM SPACE EXT. SHEATHING
\ JAMB: "FusionFrame” /
’ . ’ 1 OR 2-PIECE
0.75 __1-.-—1 0.75 __r_,’ l—-—»,—— 0.7 \ /JAMB: PINE ( )
g | ’;"’i":‘" ] “‘“-‘\‘ “‘\““
e #10 X 2-1/2" PFH #10 X 2-1/2" PFH — T
2X FRAMING WOOD SCREW WOOD SCREW
COMPOSITE )
\ SNAP-ON (G >=0.42)
CAP \ ENDURA WEATHERSTRIP  ENDURA WEATHERSTRIP (G >=0.42)
N\ (QEBD/PE 650} (QEBD/PE 650) /
- EXTERIOR |
2 1l
o
D \ FREFEFSFIFFE7 247
/ g LVL N 2
. o ~
—| 12w L‘——* 125" == o 125" = DRYWALL / \#8 X 1" PFH SMS INTERIOR PRTWALL
' #8 X 2-1/2" PFH WOOD SCREW ULPOmT |
JAMB / HEAD JAMB/HEAD  JAMB SHNGE MULTPOINT #10X 2-1/2" PFH
PINE "FusionFrame” "FusionFrame" #8 X 3/4" PFH SMS WOOQD SCREW
(1-PIECE) (2-PIECE] /" 1"\ HORIZONTAL CROSS SECTION

w Inswing shown - Outswing also approved

0. o
£3
2o -
Ex o
£ 0
Q (2]
(I)u.! *y
- 0. ~
w F.l‘”
o
S o
° 0@
vé o0
€ T 0
2 G
>mn
on
M
o
X
o
m
o
o

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

2X FRAMING

3
S
EZ
Wwo
>
<
& 8D
) bl )
I Al
pd = ,SU')
ted 07 Z(l‘)
0 L&
<| NG
TCE
2 ol T
e) &
© <
o o
I P
pt I (2]
Lt
Q
e}
&[0
&
8l
£l
SR v
R =z
ol|® 1O
S| 2
T B I e
HE N
S
T
-8
)
<
>»
N
Q <C
AN =)
- o
Z
oATE: 11,/09/16
scate: N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4673

SHEET 3 ofF 5

© zoi1s R.W. BUILDING CONSULTANTS INC.



Ri\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-705 Masonite FG NI\C - Drawings\REV 2018 IBC\TX-4673.75.dwg, 4.7

\\ W\
INTERIOR EXTERIOR INTERIOR EXTERIOR ENDURA
DOOR PANEL DOOR PANEL g
e DOOR PANEL WEATHERSTRIP —\ rERIOR | [ EXTERIOR P
ENDURA \ (QEBD/PE 450} EXEROR oURA " 2
DOOR SWEEP ENDURA WEATHERSTRIP  INTERIOR EXTERIOR| &5
(DBK-R] D (QEBD/PE 650) G
[DBK-ZAC) A
res
¢

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

/ 4"\ VERTICAL CROSS SECTION
W Outswing Bump Threshold

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

/"3"\ VERTICAL CROSS SECTION
w Outswing Bump Threshold

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

/ 2>\ VERTICAL CROSS SECTION
\4/ Inswing Arficulating Threshold

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

/1 "\ VERTICAL CROSS SECTION

W inswing Adjustable Threshold

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.O0. Box 230 Vairico FL. 33595
813.659.9197

BUILDING CONSULTANTS, INC.

Documents Prepared By:

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

ENDURA
VERTICAL CROSS SECTIONS

PRODUCT:

LFS | PART OR ASSEMBLY:

UPDATE TO 2018 IBC/IRC CODE

A I
. % 5 1
2] - -
1 s ) | | | i l ,_\_.151 i
| 456" | 4.5¢" ~ ! 456" » f 456" | | 456" |
1 INSWING ADJUSTABLE THRESHOLD INSWING ADJUSTABLE THRESHOLD 3 INSWING ADJUSTABLE THRESHOLD 4 INSWING ADJUSTABLE THRESHOLD 5 INSWING ADJUSTABLE THRESHOLD
ZAIL4565 2 7AI4565FN ZAILAA4565 ZAIAA4565FN 1Al4565RDS
in £y
] E@“ AR AR I
! 456" ! ! 4.56" ! ! 4.56" ! 456" ! L-—— 4.56" ——————J
INSWING ARTICULATING THRESHOLD INSWING ARTICULATING THRESHOLD 8 INSWING ARTICULATING THRESHOLD 9 INSWING ARTICULATING THRESHOLD 10 INSWING ARTICULATING THRESHOLD
6 ZACL4565 7 ZAC4565FN ZACLAA4565 ZACAA4545FN ZAC4565RDS
IMAX. DESIGN PRESSURE = 45 PSF |
i 5 4 = ] =N
~ = < -
1 1 i Lg i % 2
!- 4.56" —! ! 4.56" ! |[ 4.56" ! ! 456" -]
1 OUTSWING THRESHOLD 12 OQUTSWING THRESHOLD 13 OQUTSWING THRESHOLD 14 QUTSWING THRESHOLD
ZOB4565FN 1OBL4565 ZOB4565RDS FOB4566

10/23/191ADD "FusionFrame” OPTION &

1

REVISIONS

=
<
a
o
4
6

oATE: 11/09/1

ScAlE:  N.T.S.

DWG. BY: JK

LFS

CHK. BY:

DRAWING NO.:
TX—4673

SHEET 4 oF 5

© zo16 R.W. BUILDING QONBULTANTS IND.



R\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-705 Masonite FG NI\C - Drawings\REV 2018 IBC\TX-4673.75.dwg, 5.7

i HEAD ANCHORS: ¢ W
Z,Z 2X FRAMING #10 X 2-1/2° WOOD SCREW [PINE JAMB) iki o "
Qo< (BY OTHERS) " 3 53 £
s ; #10 X 3" WOOD SCREW (1-PIECE JAMB) iS g o ug
3 9 o v 6" 5 : guj e g g:
< 9 | e HOK: oz z !
a! *} (TYP) i wt =gy EL
b i N .z 3¢5 4
] T 1 N . o, (9] 5 538 %g
SEE HINGE . - - . i 2, >
{ 1 :
DETAIL 1 \‘EE T ] N RTIVENCL s 88% g8
< = & ? £ Zd, Oy
5 B i : & 35088 pu
™~ JAMB ANCHORS: & £ ®Baf gk
l : #10 X 2-1/2" WOOD SCREW (PINE/2-PIECE JAMB) < o g @ E
© N #10 X 3" WOOD SCREW (1-PIECE JAMB) | g g &
o E
S N _ - A \ 1 t & 88
7 ? * S
SEE HINGE SEE STRIKE 2
DETAIL 2 . B _ PLATE DETAIL |, o
I (TYP.) 5 | ;g':
L x o ?
Ny iz -
ih O a | 2
- 4 =0 5 |F
] I o
- %X ‘ B 92
< X
. LL.
SILL ANCHORS: G X
HINGE JAMB #10 X 2-1/2' PFH WOOD SCREW STRIKE JAMB 3 o
1/4' X 2-3/4" ELCO OR & &
FLOOR SUBSTRATE MATERIAL FRAME ANCHORING ITW CONCRETE SCREW
CONCRETE (MIN. 3000 PSI) X 2 B
WOOD (G >=0.42) =
Q
I s
Zle
5
#10X2-1/2'FHWS = _|D SiBf |»
/ |~ MULTIPOINT ol B
STRIKE PLATE Elo| |0
JAMB NOTES: _ i N
THE PINE OR "FusionFrame” 1-PIECE JAMB MAY BE INSTALLED @ THE HEAD OR SIDE JAMB. 5 2l e
THE FusionFrame” 2-PIECE JAMB MAY BE INSTALLED @ THE SIDE JAMBS ONLY. STRIKE PLATE DETAIL § E
CONCRETE ANCHOR NOTES: 8 5
1. Concrete anchor locations at the cormners may be adjusted to maintain the min. ;
edge distance to mortar joints. N
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to \}\ #8 X 2-1/2" PEH WS \}\ S|l
maintain the min. edge distance to mortar joints, additional concrete anchors / »= #8 X 2-1/2" PFH WS S |8
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. s b S L1 b 3
3. Concrete anchor fable: . 4.«0 |lo ® o [lo] =
#BXTPRWS <0 | Hlo Sl —F= #8 x3/4PFH WS #8X 1" PFH wsé:. Al SF== #8x3/4'PrH ws oaTe: 11,/09/16
— 4" X 4" HINGE "~ 4% 4" HINGE SCAE:  N.T.S.
G \ \ owe. BY:  JK
mw " n CHK. BY: LFS
® 113 - i - . M
rapcon® | V/ 1-3/ 1-172 4 HINGE DETAIL 1 HINGE DETAIL 2 ORAVING 0.
ELCO TX—-4673
® 1/4" ]-3/4" 1" 4“
ULTRACON SHEET 5 oF _5_

© zo16 R.W. BUILDING CONSULTANTS INC.




